FRTCES CRBRFLPERIRFRIERFFAP ST A

AR 109 & 12 % =2

~EL | HP &% =S 5 % =S
(=)
ol | AERT R 1800 | {7 &% p & -] B¥ 600 BAIRRE ot RE - BHERE
o1l 3o pEE
1 AR 2000 | -}AE (& P 667 FERMERBEFELEHE (42 | »3REF (e
SRERE RN - ~1) = =) EoppE
% 67 ~
2 LA F T 1000 | 1AL (* ) p* 333 FERERP EFESHF (e | CIRE (e
SRR RN ) - ~2) Z~zZ) EpE
% 33 =~
3 WAL (5 AE 200 | = EITRE (e - 2) v HRE (i
-~ -z
4 AR E 2000 | ARE20 2L HF 2T A0t | FEREFRFEFESERE (e IR (1
50 ~ - ~4) Z ~=) %1000
5 BB 500 | = EINERE (it e ) wRIRRE (i
#z v )
6 |AMER 2000 |&#7 2000~ pieg |FERERPEFESGFEF (4 | DFRE (HE
500 ~ - ~6) Z ~1) %1600
7 BHE G 300 | P& R2IFEE (it S 2) VORI (4
#o )
R 2400 | = % FERERPEFEAGHF (e | A FHF (8
- . 8) ~=) %2100




9 AT 100 & & ﬁfﬂ,,;ff.i‘ﬁ %Pﬁ%’a\gf}._& (lﬁ-f’i IR (x;:]-fi
-~ 9) - o) &
210 =
LE L e 3600 | =% FERERP EFESEHE (| 3RE (i
- ~10) = ~»~) %3300
SR 2400 | %5 EERERPEFEAEHE (4 |2 (g
- 1D = ~4) %2100
12 | %2 4500 | A4 FERERPEREDEHRE (2 | WIRE (e
- ~12) Z~ZZ2) %
2500 =
13 jdams 2400 | =% FERERPEFEAEBE (e | W 80F (48
- ~13) =~-0) %
2100 =
T T 2000 EEREFRPEREXGFE (i | ok (g
- ~14) —~Z2-=) %
1000 =
5| & 5000 EERERPEFESGHE (e | 3R (e
-—\]_5) _:\_-,\)")
5000 =
16 1 7200 | F £1200 %0 - a2 & | FERMERFERESEHRE (e | WIRE (g
BT e - ~16) S v-4) 3
1200 =
17 il 3600 FEREFRFPFFESEHFF (g FERFRP ¥

- ~17)

FEDERE




(- ~17)

18 FEGE (78 20000 AT (it v 2) wRIREE (g
li: =
19 1500 FERFRFPFERESEHF (e ERNFRP ¥
- +19) F#éﬁﬁ—ﬁ
(- ~19)
20 At Gh) i 6000 REBREE (fiEz s o) VORISR (U
- ~Zw)
21 300 FTERFRFERFSEHFE (e 'ﬁ*"ﬁriﬁ( i
- ~21) =~23) 3"‘1
2000"u
22 500 FEREFRFEREXEHE (e IR RE (it
- ~22) N
2500 =~
23 8000 FERERFERFEDECHREF (e TEREFRP ¥
- ~23) ¥ RE
(I‘]'f:"‘ ~23)
24 1200 | # 12 =~ FTERFRFPERFSEHFE (e ERMFRP ¥
- ~24) Fﬁ# & =¥
(it - ~24)
25 7200 FEREFRFFRESEHE (e IR (i
- ~25) ZvZ )
2200’1
26 6000 | & i 50 =~ FTERFRFPERFSEHFE (e ERMFRP ¥
- ~26) ﬂf-# € ¥

(-~ 26)




21 R 8000 | %% #%= 4000 = FERERFEREDEHE (e VIR (i
- ~27) =) % 5000 =~
28 | ¥ &aB(ZEAn - Lifp A) | 20000 | @ FERFRPERE2GRF (e [ RE (g
- ~28) =) S
20000 ~
29 ¥ g % 7 FERERPFERESEEE (O | SRR (e
-+ 99) Sa-m)
300 ~
30 FAaEEs (AgtgEe) 5000 FEREFRFPERESEHE (e g g ( 'T"
- ~30) N DI
25000
31 i 12000 FERFRFEFEEHRE (e "‘”‘ﬂ-ﬁ‘ ('r]‘"
- ~31) SN =)
28000 ~
32 S L 100000 FERERFEFESEHE (2 | FEREFRP X
- ~32) 2§ RE
('t - ~32)
33 PR (g2¥) 200000 FERZERFEREQEHRE (e FERE&RD £
- ~33) LR

(it - ~33)

34




